ANUSHKA ACADEMY

BANK MOCK TEST - 157

( rdKor 1.k )

fun'k (1-5) : fn; x, 1R;d i"u e pkj dFu ,0 pkj
fu'd'k 1, 11, 111 ,0 IV fufgr gh vkidk bu dFkuk dk IR;
ekuuk g] Hky gh ok BoKkr rF;k 1 fHlu 1rhr gkr gh BHM
fu'd'k dk i< fi)j r; dj fd IHO riu dFkuk dk futufyfkr
dku 1 fu'd' rifdd -1 1 vulj.k djr g
1. dFku:

dN cLr cDI gh

IHh cDI deft gh

dN dent ilLrd gA

IHh iLrd ndiu gh

fu'd":

I.  IH0 ndiu cLr gA

11. de&l&de dN iLrd cLr gh

111. dN ndiuk d deft giu dh THkouk gA

Iv. dib deft cLrk ugh gA

(1) 1,011 vulj.k djr gA

2) 1,011 vulj.k djr gh

3) 11 ,01v vulj.k djr gh
4) 11 ,01v vulj.k djr g

(5) dib vulj.k ugh djrk gh
2. dFu:

IHh dye dlh g

IHh 10y dIh gh

IHh dlh vd gh

fu'd":

I. dN Vvd fuf"pr gh dye gA

1. IHh vd dlh gh

11, IH0 Vdk d dye giu d THkouk gh

Iv. dN vd dlIh ugh gA

(1) 1,011 vulj.k djr gh

) 1,011 vulj.k djr gA

(3) 111 ,0 IV vulj.k djr gA

4) 11 ,0 v vulj.k djr g

(5) bue I dib ugh
3. dFfu:

IHh et [Hk gA

dN [ dLc gh

IHh dLc cp gh

dN cp dij gh

— —

fu'd":

I. dib dij dLck ugh gh

1. de I de dN cp et g

1. IHh cp [k ugh gA

Iv. dN dijk d [iH h IHkouk gA
1) dib vulj.k ugh djrk gh

2) doy 1 vulj.k djrk gA

3) doy 11 vulj.k djrk gh

4) doy 111 vulj.k djrk gA

(5) doy 1v vulj.k djrk gA

dFu :

IHO LV7hu % gA

dib % cxhpk ugh gA

dN cxipk uni g

IHh unh rkykc gA

fu'd'k:

1. IHh riykck d cxip gu dh IHikouk gA
I1. dN rkykc LV*u gh

I11. dN rkyic fuf*pr gh %j gh
Iv. dib rkykc LV*iu ugh gA

1) d0yIVU|j.k djrk gA

2) ;k rk1r vHok v vulj.k djrk g
3) 1,01 vulj.k djr gh

4) 1,01v vulj.k djr gh

(5) bue 1 dib ugh

dFu :

dN Vioj yu gh

dN yu Ivd gh

dN IMd unh gh

dN uni txy g

fu'd":

I. dN txy IMd ugh gh

1. THh IMdk d yu giu dh THkouk gh
111. de | de dN txy Vioj gh

Iv. dib txy IMd ugh gh

(1) doy 1 vulj.k djrk gA

(2) doy 11 vulj.k djrk gA

(3) ;krk1 vFok v vulj.k djrk gA
4) doy 1v vulj.k djrk gA

(5) sk rk1,01v vk 11 vulj.k djr gh
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ANUSHKA ACADEMY

BANK MOCK TEST - 157

( REASONING )

Directions (1-5) : In each of the questions below
are given four statements followed by four
conclusions I, II, III and IV. You have to take
the given statements to be true even if they
seem to be at variance from commonly known
facts. Read all conclusions and then decide
which of the given conclusions logically follows
from the given statements disregarding
commonly known facts.

1. Statements :
Some bags are trunks.
All trunks are shirts.
Some shirts are books.
All books are shops.
Conclusions :
I. All shops are bags.
II. Atleast some books are bags.
III. Some shops being shirts is a possibility.
IV. No shirt is a bags.
(1) Tand II follow  (2) I and III follow
(3) III and IV follow (4) II and IV follow
(5) None follows
2. Statements :
All pens are chairs.
All flowers are chairs.
All chairs are trucks.
Conclusions :
[. Some trucks are definitely pens.
II. All trucks are chairs.
III. All trucks being pens is a possibility.
IV. Some trucks are not chairs.
(1) Tand III follow (2) I and II follow
(3) III and IV follow (4) II and IV follow
(5) None of these
3. Statements :
All desks are pillars.
Some pillars are towns.
All towns are benches.

Some benches are cars.

Conclusions :

I. No cars are towns.

II. Atleast some benches are desks.
III. All benches are not pillars.

IV. Some cars being pillars is a possibility.
(1) None follows (2) Only I follows
(3) Only II follows (4) Only III follows
(5) Only IV follows

Statements :

All stations are houses.

No house is garden.

Some gardens are rivers.

All rivers are ponds.

Conclusions :

I. All ponds being gardens is a possibility.
II. Some ponds are stations.

III. Some ponds are definitely houses.
IV. No pond is station.

(1) Only I follows

(2) Either II or IV follows

(3) T and II follow

(4) Tand IV follow

(5) None of these

Statements :

Some towers are lanes.

Some lanes are roads.

Some roads are rivers.

Some rivers are jungles.
Conclusions :

I. Some jungles are not roads.

II. All roads being lanes is a possibility.
III. Atleast some jungles are towers.
IV. No jungle is road.

(1) Only I follows

(2) Only II follows

(3) Either I or IV follows

(4) Only IV follows

(5) Either I or IV and II follow
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ANUSHKA ACADEMY

fun'k (6-11) : uhp fn, x, 1k;d 1'u e ,d 1'u Vkj
mld uhp nk dFu 1vkj 11 fn, X, gh vkidk ;g r; djuk
g fd dFluk e fn; x; vkdM i*u dk mlkj nud fy, i;kr
g ;k ugh ot niuk dRkuk ok if<, wkj mlkj fnft, &

(1) ;fndoy dfu 1e fn; x; vidM i"u dk mlij nu d
fy, i;k Ir g] tefd doy dru 11 e fn; x; vidM i*u
dk mlij nu d fy, 1;kr ugh gA

2) ;fn doy dru re fn, x; vidM i*u dk mlij nu d
fy, 1;k Ir g] tcfd doy dRu1e fn; x; vidM 1°u
dk mlij nu d fy, 1;kr ugh gA

3) ;fn ;k rk doy dFku Ik doy dFu 1 e fn; Xx;

vidM i*u ok mlij nu d fy, i;Hr gk

4) ;M dFkUIij dFu 11 nkuk dk vidM feykdj Hn 1*u
dk mlj nu d fy, i;lr ugh gh

(5) ;fn dFu 1 vk dFfu 11 nkuk dik
mikj nu d fy, vio*;d gh

6. M,FIfdl idij Icf/r g\
I. F,Ndhcgug] thRdhekrk gA
1. md ,d I vi/d Hib g ftue 1 ,d RgA
7. ekp e fdl rijh[k 1j 1obu d firk dk tlefnu g \
L. dk Heyh Hifr ;in g fd mid firk di tlefnu
14 d cin fdUr 19 1 i1gy gh
1. ioh.k dh cgu dk Bad I ;kn g fd mud firk dk
tlefnu 17 d cin rFik 21 1 igy gA
8. M,N,T,R,0D lcdh vk; vyx&vyx g] bue |
diu Icl Nivk g \
I. Nmue I doy D I NiVk gA
1. T,R I cMfdlr m 1 NiVk gA
9. lege fdructyd g\
1. Ixirku leg e 12 ctydk I viZd vd illr fd,A
II. jhuk u Ixhirk 1 de vd illr fd,A
10. 36%4*8 dkeluD;kg\
I. P$Qdk vFk g P diQ I foHiftr djA
1. A*Bdk vF glAdiB I x.lk djA
11. 30 fo]kr;k dn ,d d{k e lehj dk LFku D;k g \
L I/ & IeJ I pkj LFku mQij g] uhp 1 ilngo
LRk 1j gA
1. lehj] ubr
LFku 1j gh
fun’k (12-16) : fn, x, Ipukvk dk Tkoékuhiod i< ,0
fukufyfLkr i*uk d mlkj nA
VIB fesk J, K, L, M, N, P, R rfit S vyx&vyx filYe &
cVeu] MMiy] ,oltl] VfeuVj] LiDV] VkoVfud] ,Dl&eu] rFik
joulv illn djr gh ok IH ,d oxidlj et d pljk rjid (iR;d
flj 1j nk) din dh vij e[k djd cB gh

vidM feydj 1"u dk

(1 riu LRku uhp g] & uhp 1 vBIjgo

L,kKdnk, 1 rilj LFku 1j cBk gA K dk ,oltl iln
gd R, Pd cf, I nlj LFku ij cBk gh P, L vFok K dk
fudVre iMcIh ugh gA og ftl cVeu 1ln g] P dk fudVre
iMkIh oA K rFk fEl VibViud 1n g d chip e rhu 0;fDr cB g

K, L rAk mud fudVre iMdh VeuVj 1ln ugh djr g
VfeuVj iln dju oty 0;fDr rFk M d cip doy ,d 0;Dr
cBk gA o 0;fDr fEl LiDV rFk joulv illn g] ,d nlj d
fudVre iMkIh gA L dk uk gh joulV wij uk gh LiDV illn gA
J rRk MMIy 1ln dju ofy 0;f0r d cip doy ,d 0;fDr cBk
gh J dk uk rk VfeuVj wij uk gh LIDV 11n gA N dk VfeuVj
iln ugh gh
12. Rd Ink e futufyf[ir e 1 D;k IR; g \

(1) RdkMMiy 1ln gh

2) S,0M,Rd fudVre iMklh gh

(3) RrHk joulV illn dju oty d eé; ,d 0;fr g

@) R,Jdnk, I nlj LFhu 1j gA

(5) bue I dib ugh
13. futufyf[kr e 1 fd1 fiYe LiDV iln g \

(1) L 2) R

(3) M (4) N

(5) fu/ifjr ugh fd;k th Idrk
14. ;fnjoulV illn dju oty 0;fDr d ck, I fxu rimld

rik s d chp e fdru yix cB g \

(1) dib ugh 2) pkj

(3) nk (4) riu

(5) bue 1 dib ugh
15.  fublifyf[ir e 1 diu Ik dFiu IR; g \

(1) joulV rFk ,DI eu iln dju oty 0;0r;k d cip

doy ,d 0;fr cBk gA

(2) s dk Vieuvj 1ln gA

(3) og 0;r] fel LiDV iln g] o K dk fudVre

Mkl gA

(4) K rfk og 0;fr] ftl VfeuVj 1ln g] mud chp

doy ,d 0;fr cBk gA

(5) dib Ha IR; ugh gA
16. futu e I diu M d fudVre iMkIh di

(1) J,N

(2) P rfik og 0;fDr fel VfeuVj illn gh

(3) K rrk og 0;f0r ft1 ,DLk eu 1ln gh

4) P,R

5) J, S
fun'k (17-18) : fn, X,
uhp i'uk d mlkj nA
B, E dl ikrk g rfik E, P dh ekrk ugh gA D, P dh 1Ruh g rFk
P, Bdk firk gA C, s dh elrk g rFk s, P dk Hib gh
17. ;inH,Edhicgug] riH, s I fdl idij Icfér g \

(1) Herhtk (2) Horhith

(3) 14 (4) ikrh

(5) bue 1 dib ugh

n"lrk g \

Ipuk dk Bkoélkuhiod i< ,0
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ANUSHKA ACADEMY

Directions (6-11) : Each of the questions below
consists of a question and two statements I and
II given below it. You have to decide whether
the data provided in the statements are
sufficient to answer the questions. Read both
the statements and given answer.

(1) If the data in statement I alone is sufficient
to answer the question, while the data in
statement II alone is not sufficient to
answer the question.

(2) If the data in statement II alone is
sufficient to answer the question, while the
data in statement I alone is not sufficient
to answer the question.

(3) 1If the data either in statement I alone or in
statement II alone is sufficient to answer
the question.

(4) 1If the data in both the statements I and II
together are not sufficient to answer the
question.

(5) 1If the data in both the statements I and II
together are necessary to answer the
question.

6. How is M related to F ?

I. F is sister of N, who is mother of R.

II. M has more than one brothers of which
one is R.

7. On which date in March was Praveen's
father's birthday ?

[. Praveen correctly remembers that his
father's birthday is after 14th but before
19th of March.

II. Parveen's sister correctly remembers
that their father's birthday is after 17th
but before 21st of March.

8. Among M, N, T, R and D each having
different age who is the youngest ?

[. Nis younger than only D among them.

II. Tis older than R and younger than M.

9. How many children are there in the group?

[. Sangita has scored more marks than
12 children in the group.

II. Reena has scored less than Sangita.

10. What is the value of 36$4*8 ?

I. P$Q means divide P by Q.

II. A*B means multiply A by B.

11. What is Samir's rank from the top in the
class of 30 students ?

I. Sudhir, who is four ranks above Samir,
is fifteenth in rank from the bottom.

II. Samir is three ranks below Neeta, who
is eighteenth from the bottom.

Directions (12-16) : Read the following passage
carefully and answers the questions given
below it—

Eight friends J, K, L, M, N, P, R and S like different
movies - Batman, Deadpool, Avengers,
Terminator, Spectre, Titanic, X-men and
Revenant. All of them are seated around a square
table (two on each side) facing the centre.

L sits third to the right of K. K likes
Avengers. R is sitting second to the left of P. P is
not an immediate neighbour of L or K. The one
who likes Batman is an immediate neighbour of
P. Three people sit between K and the person who
likes Titanic.

K, L and also their immediate neighbour
do not like Terminator. Only one person sits
between the person who likes Terminator and
M. The persons who like Spectre and Revenant
are immediate neighbour of each other. L likes
neither Revenant nor Spectre. Only one person
sits between J and the person who likes Deadpool.
J does not like Terminator or Spectre. N does
not like Terminator.

12.  Which of the following is true regarding R?

(1) R likes Deadpool

(2) S and M are immediate neighbours of R

(3) One person sits between R and the

person who likes Revenant

(4) R sits second to the right of J

(5) None of these
13. Who amongst the following likes movie

Spectre ?
(1) L 2) R
(3) M (4) N

(5) Cannot be determined
14. How many person sit between S and the
person who likes Revenant, when counted
from the left hand side of the person who
likes Revenant?
(1) None
(3) Two
(5) None of these
15. Which of the following is true?
(1) Only one person is sitting between the
person who likes Revenant and X-men.
(2) S likes Terminator.
(3) The person who likes Spectre is an
immediate neighbour of K.
(4) One person sits between K and the
person who likes Terminator .
(5) None is true
16. Who amongst the following represent
immediate neighbour of M?
(1) J,N
(2) P and the person who likes Terminator
(3) K and the person who likes X-men
(4) P,R
(5) J, S
Directions (17-28) : Study the following
information carefully and answer the questions
given below :

B is grandson of E, who is not mother of P. D is
wife of P, who is father of B. C is mother of S, who
is brother of P.

17. IfHis sister of E, then how is H related to S?
(1) Nephew (2) Niece
(3) Daughter (4) Grand daughter
(5) None of these

(2) Four
(4) Three
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ANUSHKA ACADEMY

18.

fun'k (19-23) :

;inw, s dh iRuh g rk
(1) FILVj&bu&yk

3) Il

(5) bue I dib ugh

w, D 1 fdl idij Icf/r g\
(2) cg
(4) cgu

fn, x, lpuk dk Tkoekuniod i< ,0

ubp i*uk d mlkj n

‘sit ha pit zo fy[

fdlh fuf*pr diM e, ‘all are going market’ dk
rk gA ‘market is too far’ dk ‘ch

fa jo zo’ fy[ gA ‘he is not going’ dk ‘pit ch la
na’ fy [l t g] ,0 ‘not far for all’ dk 4o na ha sa’
fy [ trk gA
19. ‘going’ dk diM D;k gixk \
(1) pit (2) sit
(3) na 4) la
(5) bue I dib ugh
20. ‘zo’ dk VF D;k ghxk \
(1) going (2) too
(3) market (4) far
(5) bue I dib ugh
21. ‘heis far’ dk diM D;k g \
(1) nach jo
(2) lach jo
(3) chna sa
(4) fu/ifjr ugh fd;k t 1dri
(5) bue I dib ugh
22. ‘too’dk diM D;k g \
(1) jo (2) fa
(3) sa (4) ch
(5) bue I dib ugh
23. ‘sazona’futufyf[ir e I fdl dk diM g \
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(1) not for market

(2
(3) ball are going

)
)
(4) fu/kjr ugh fd;k € 1drk
(5) bue I dib ugh

he is far

fun'k (24-28) : fn, X,
uhp i'uk d mlkj nA
Lir fe=k vYdi] xky] ghuk] b*K] thon] dju rFik yky ,d bekjr
dh vyx&vyx eftyk 1j jgr g 1j vio*;d ugh fd lelu @e
ek Icl fupy efty dh @e I[;k 1] bl l miij dh 2 ,0 bilh
rjg Icl mjij dh efty dh @e I[' 7 gh

vYdi] xty tk fo'k; I[;k okyh efty ij ugh jork I
miij dh efty 1j ugh jgrh gh dj.k vij tion d chp doy
,d 0;r jork gA dj.i] ghuk d mQij okyh efty ij ugh jgrk
gh yhy Icl mijh efty 1j ugh jgrk gh ghuk doy nk 0;fr;k
I uhp oky efty 1j jorh g] 1j tion vFok dj.k 1 ulp okyh
efty 1j ugh jgriA tion] dj.k I miij okyh efty 1j ugh
jgrk gA
24. fukufyf[ir e 1 diu rilljh efty 1j jori g \

(1) yly

(2) bk
(3) vydk
(
(

Ipuk dk Toékkuhiod i< ,0

4) fu/Kjr ugh fd;k & 1drk
5) bue 1 dib ugh

25. fuku e 1 diu Ik leg le I[;k okyh efty ij jori
g\
(1) xky] dju, yty
(2) xty] dju, tion
(3) yhy, vYdk, b
(4) vYdi, tion, ghuk
(5) bue 1 dib ugh
26. bk rfk thon ftu eftyk 1j jor gl mu d cip dy
fdru 0;fDr jgr g \
(1) nk (2) rhu
(3) Pl (4) ilp
(5) bue 1 dib ugh
27. ;fnvYdk dj.k d Bid ulp okyh efty ij jorh g] rk
fuku e I diu efty I[;k 1 ijjgrig \
(1) b (2) Yty
(3) tion (4) ghuk

(5) bue I dib ugh
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ANUSHKA ACADEMY

18. If Wis S's wife, then how is W related to D?
(1) Sister-in-law (2) Daughter-in-law
(3) Mother-in-law (4) Sister
(5) None of these
Directions (19-23) : Study the following
information carefully and answer the questions

given below :

In a certain code ‘all are going market’ is
written as ‘sit ha pit zo’, ‘market is too far’ is
written as ‘ch fa jo zo’, ‘he is not going’ is written
as ‘pit ch la na’ and ‘not far for all’ is written as
Yo na ha sa’.

19. What is the code for ‘going’ ?
(1) pit
(3) na

(2) sit

“4) la
(5) None of these

20. What does zo’ stand for

(2) too

(4) far

(1) going

(3) market

(5) None of these
21. What is the code for ‘he is far’ ?

(1

2

) nach jo
)

(3) ch na sa
)

la ch jo

(4) Can't be determined
(5) None of these

22. What is the code for ‘too’ ?
(1) jo (2) fa
(3) sa (4) ch
(5) None of these

23. ‘sa zo na’ is the code for which of the
following ?

(1
2

not for market
he is far
(4) Can't be determined

)
)
(3) ball are going
)
()

None of these

Directions (24-28) : Study the following
information carefully and answer the questions
given below :

Seven friends Alka, Golu, Heena, Ishu, Javed,
Karan and Lalu live on different floors of a building
but not necessarily in the same order. The
lowermost floor is numbered 1, the floor above it
is 2 and so on thus, topmost floor is numbered as
7.

Alka does not live above Golu, who does
not live on an odd numbered floor. There is only
one person between Karan and Javed. Karan does
not live above Heena. Lalu does not live on topmost
floor. Heena lives below two persons but does not
live below either Javed or Karan. Javed does not
live above the floor on which Karan lives.

24. Who among the following lives on the third
floor ?

(1) Lalu

(2) Ishu

(3) Alka

(4) Can't be determined
(5) None of these

25. Which of the following groups lives on even
numbered floors ?

(1) Golu, Karan, Lalu
(2) Golu, Karan, Javed
(3) Lalu, Alka, Ishu

(4) Alka, Javed, Heena
(5) None of these

26. How many persons live between the floor
on which Ishu and Javed live ?

(1) Two (2) Three
(3) Four (4) Five
(5) None of these

27. If Alka lives just below Karan then, who
among the following lives one floor no. 1 ?

(1) Ishu
(3) Javed

(2) Lalu
(4) Heena
(5) None of these
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ANUSHKA ACADEMY

28. futufyf[kr dFuk e 1 diu Ik IR; g \

(1) xky riljh efty ij jork gA

(2) dj.k yky d Bid unp jgrk gh

(3) xkty rFk ghuk d cip doy ,d 0;fDr jgrk gh

(4) dib IR; ugh gA

(5) bue 1 dib ugh
fun'k (29-31) : fn, x, lIpuk dk Tkoekkuhiod i< ,0
ubp i*uk d mlkj n
Nk fesk vYilt] cch] pigr] nid] bk rFik 0ty d ikl
vyx&vyx I[;k e dye gh pigr d ikl dyek dh I[;k
Icl de ugh gA og 0;fDr feld ikl nljk Icl vi/d dyek
dh I[;kg] d ikl 18 dye gA nhid d ikl dyek dh I[;k
doy bl ,0 pigr I vféid gh cch d 1kl vYilt 1 vied
fdir ifty 1 de dyek dh I[;k gA nid d ikl cch I 5
dye de gt dye dh Icl de I[;k7 gh

29. futufyflir e I fdl d ikl dyek di 1[;k Icl de

g\
(1) vYilt (2) pkar
(3) ity (4) bl
(5) bue I dib ugh
30. VvYilt d ikl dyek dh IHkor I[;k fdruh g \
(1) 10 2) 17
(3) 12 @) 11

(5) bue I dib ugh
31. futufyf[ir e 1 fdl d ikl Icl viZd I[;k e dye

g\
(1) 10ty 2) VYilt
(3) cc (4) pigr

(5) bue I dib ugh

fun'k (32-35) : up fn, x, 1°uk d dFkuk e fofHkik
vik;ok d chp Ic/ n'k; x, gh bu dFkuk d ckn nk
fud’ fn, x, gh viuk mlkj n&
(1) ;i doy fu'd'1 IR; gh
) ;finourkfudfrvij ughn IR; gh
(3) ;fn fu'dk 1 wij 11 nkuk IR; QA
4) ;fn doy fu'd'1r IR; gh
(5) ;fnoskorkfuld'r skan IR; gh
32. dFu:
S<T=E<P=N<G
fu'd":
. G>S II.
33. dFu:
B>R>A=N<D<S
fu'd":
I. B>N II.
34. dFu:
T>I<G<E=R<S
fu'd":
I. R>T II.
35. dFku:
U>B>M<G;L<Y<M
fu'd':
I. U>L II.

G=3S

S>1
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ANUSHKA ACADEMY

28. Which of the following statements is/are

true ?
(1) Golu lives on third floor
(2) Karan lives just below Lalu.

(3) There is only one person between Golu

and Heena.
(4) None is true
(5) None of these
Directions (29-31)

information carefully and answer the questions

: Study the following

given below :

Six friends Alfag, Baby, Chahat, Deepak,
Esha and Fagal have a different number of pens.
The person who has least no. of pens is not
Chahat. The person who has the second highest
number of pens has 18 pens. Deepak has more
pen than only Esha and Chahat. Baby has more
pens than Alfaj but less than Fagal. Deepak has
5 pens less than Baby. 7 is the least number of
pens.

29. Who among the following has the least

number of pens ?
(1) Alfag
(3) Fagal
(5) None of these

(2) Chahat
(4) Esha

30. How many possible number of pens does
Alfag have ?

(1) 10
(3) 12
(5) None of these

2) 17
@) 11

31. Who among the following has the highest

number of pens ?
(1) Fagal
(3) Baby
(5) None of these

(2) Alfag
(4) Chahat

Directions (32-35)
relationship between different elements is

: In these questions,

shown in the statements. The statements are
followed by conclusions. Study the conclusions
based on the given statement and select the

appropriate answer.
(1) If only conclusions I is true.
2) If neither conclusion I nor II is true.
3) If both conclusions I and II are true.
4) If only conclusion II is true.
5) If either conclusion I or II is true.
32. Statement :
S<T=E<P=N<G
Conclusions :
I. G>S II.
33. Statement :
B>R>A=N<D=<S
Conclusions :
I. B>N I1.
34. Statement :
T>I<G<E=R<S
Conclusions :
I. R>T II.
35. Statement :
U>B>M<G;L<Y<M
Conclusions :

I. U>L II. G<L
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(

THE R

)

fun'k (36-40) : futufyf[kr 1"uk e 17u fplg (?) ol LFku
1j yxHx D;k eku vk, xk\ (vkidk okLrfod eku Kkr ugh

djuk gb)

1 9537,9509989 959
(1) 1 (2) 3
(3) 2.99 4) 3.6
(5) 2.7

2 +1891.992 dk 3.001

. /10000 2987 -
(1) 2500 (2) 1230
(3) 1640 (4) 1525
(5) 2130

38. 0.0004 0.0001 x 36.000009 = ?
(1) 0.10 (2) 1.45
(3) 145 (4) 14.5
(5) 1450

39. 12345dk 137% ="?
(1) 17000 (2) 15000
(3) 1500 (4) 14300
(5) 6300

40. 3739+ 164 x27 =7
(1) 102400 (2) 4000
(3) 8200 (4) 690
(5) 6300

fun'k (46-50) : futu rkfydk dk é;kuiod wve;;u
rik unp fn, x,

dj
i"uk d mlkj ni

xko A B c
—>
ok | dy o/ dy o/ | dy o/
\l, er er er er er er
2000 | 2500 [ 2250 [ 8000 | 7600 [ 4400 | 4250
2005 | 3800 | 3250 [ 6250 | 5800 [ 5000 | 4600
2010 | 3400 [ 3000 [ 5900 | 5400 [ 6720 | 6750
41. fn, x, 0" e xko Ae vilr o/ er D;k g \
(1) 400 (2) 425
(3) 450 (4) 375
(5) 350
Branches :-

42.

43.

44,

45.

funk (46-50) : futufyf[kr [ ;k J[kyk

;in 0% 2000 e xio Be My x, dy erk e 25»

efgykvi d Hjk er Myk x;k rRk efgykvk dk dy o/
er 1875 g] rk 1#'% d } My x, o/ erk dh I[;k
D;kg\

(1) 5675 (2) 5825

(3) 5450 (4) 5950

(5) 5725

0'k 2000 e Mky x, dy o/ erk dk vilr D;k g \
(1) 4750 (2) 4600

(3) 4850 (4) 4700

(5) 5150

0'f 2000 e xto Ad dy er] 0% 2010 e xio C e My
X, o/ erk dk fdruk ifr*kr g \

(1) 29% (2) 35%
(3) 37% (4) 42%
(5) 44%

0'% 2005 e xio C e My x, o/ erk dh I[; 0% 2000
e xio Be My x, dy erk dn I[;k I fdruk 1frir
de g\

(1) 39.50%
(3) 46.75%
(5) 37.75%

(2) 42.50%
(4) 41.25%

e i"ufpbu (?)

d LFku i D;k wk,xk \

46.

47.

48.

3 10 32 1007

(1) 345 (2) 460
(3) 308 (4) 440
(5) bue I dib ugh

53 4 ? 38

(1) 8.5 2) 6
(3) 7.5 4) 8
(5) bue I dib ugh

5 6 ? 57 244

(1) 21 2) 16
(3) 17 4) 15
(5) bue I dib ugh
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ANUSHKA ACADEMY

( QUANTITATIVE APTITUDE )

Directions (36-40): Find out the approximate | 42. Iftotal vote polled in village B in the year 2000,

value which should replace the question mark 25% polled by females and total valid—female-
(?) in the following questions. (You are not votes are 1875, then find the number of valid
expected to find out the exact value) votes polled by males ?
1. 05379509989 = Q57 (1) 5675 (2) 5825

(1) 1.9 (2) 3 (3) 5450 (4) 5950

(3) 2.99 (4) 3.6 (5) 5725

(5) 2.7

43. What is the average of valid votes polled in
the year 2000?

3.001
=9
2. J10000 + 4.087 of 1891.992 =+

(1) 4750 (2) 4600
T
(5) 2130 (5) 5150
38.  0.0004 0.0001 x 36.000009 = ? 44. Total votes of village A in the year 2000 is
what percent of valid votes polled in village C
(1) 010 (2) 1.45 in the year 2010?
(3) 145 (4) 14.5 (1) 29% 2) 35%
(5) 1450 (3) 37% (4) 42%
39. 137%0f12345="7 (5) 44%
(1) 17000 (2) 15000 45. Valid votes polled in village C in the year 2005
(3) 1500 (4) 14300 is by what percent less than total votes polled
(5) 6300 in village B in the year 2000?
40. 3739 + 164 x 27 = ? (1) 39.50% (2) 42.50%
(1) 102400 (2) 4000 (3) 46.75% (4) 41.25%
(3) 8200 (4) 690 (5) 37.75%
(5) 6300 Directions (46-50): What will come in place of the

question mark (?) in the following number series ?
Direction (41-45): Study the following table and

answer the questions given below.

46. 3 10 32 100°7?

(1) 345 (2) 460
Village A B c (3) 308 (4) 440
—>
Year| Total | Valid | Total | Valid | Total | Valid (5) None of these
\l/ Votes | Votes| Votes | Votes | Votes| Votes

o)
2000 [2500 | 2250 | 8000 | 7600 [ 4400 | 4250 4753 4 7 38
2005 [3800 | 3250 | 6250 | 5800 | 5000 | 4600 (1) 8.5 (2) 6
4 7 7
2010 | 3400 | 3000 | 5900 | 5400 [ 6720 [ 6750 @) 7.5 ) 8
(5) None of these

48. 5 6 ? 57 244

41. What is the average valid votes in village A
for the given years ?

(1) 400 (2) 425

(1) 21 (2) 16
(3) 450 (4) 375

(3) 17 (4) 15
(5) 350

(5) None of these
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49.

50.

51.

52.

53.

54.

Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152 Ajmer-7340019191, Kankroli-7229922209

3 10 21 ? 51
(1) 34

(3) 33

(5) bue I dib ugh

5 11 ? 55 117
(1) 21 (2) 27
(3) 23 4) 25
(5) bue 1 dkb ugh

51[;kvkd Ir3064gA|gyn I kv dbovildr
431 rFik vfre nk B[ ;kv vilr 2145 gA il jh
I[;kD;k
(1) 108
(2) 5
(3) 321
)
)

2) 32
(4) 37

(4) fuZkjr ugh fd;k ¢k 1dri

(5) bue 1 dib ugh

1j*kz 15000 dh ,d jif*k dk 2 0" d fy, 9 ifr’ir
olf'kd I/kj.k C;kE nj ij rFk = 12000 dk 8 ifrrir
olf'td p@of¥s (ke nj 1j fuo’k djrk gh 2 o'l e 15k
fdruk C;kt kr djrk g \

(1) T 4096.60 (2) ¥4696.80

(3) ¥4896.60 (4) T 4698.60

(5) bue I dib ugh

nhik ,d dydyVj dk vidr eY; I 30% cW ij
[kjinrh gA ;fn og ¢V ikir ugh djrf] rk ml % 82.50
virfiDr Hixriu djuk girid mlu dydyVj dk fdl
eY; 1j [kjink Fik \

(1) ¥ 192.50
(2) 275
(3) ¥117.85
(4) fu/kfjr ugh fd;k t Idrk

(5) bue 1 dib ugh

veir] Dprk rAk ubfr ,d ollidlkj iFk d pjk ij nkMuk
iljH djr g rFk ,d pDdj @e'lk 18, 24 rfk 3
Id.M e ijk djr gA fdru Id.M d cin riuk Ih
iljfHkd fcln 1j feyx] ;fn o IHh lelu le; e niMuk
iljH djr g \

(1) 196

4) fu/kjr ugh fd;k € Idrk

)
(3) 324
)
(5) bue 1 dib ugh

55. ,d 280 elVj 0;kI oty olkd enku d phjk vij 7
elVj piM cxhpk dk cutu dk [kp gixi] ;fn cxip
dk cutu dk ifr ox elVj [ip 2219 \
(1) ¥1,56,242 (2) 2,48,521
(3) ¥1,11,624 (4) ¥2,06,118
(5) bue I dib ugh
fun*k (56-60) : futu j[k vkj[k dk e;kuiod veé; ;u dj
rkk unp fn, x, 17uk d mUkj nA
sk x;k Ik vk [k ,d iji{kk e jkT; A rRkk jkT; B 1
kfey Nkt dh B[k dk n*kkrk gh
A Be=illl=—
800 780
700 76(\
/ N/
500
400—%/ 440v 440
300 520 320
200+—200—
2004 2005 2006 2007 2008 2009
0'k
56. 0% 2009 e jiT; B 1 "lifey Niclk dh B[ ;K] THh o'
di feyidj jiT; A 1 “lifey dy N k dh I[ dk
fdruk ifr'r g \
(1) 32% (2) 30%
(3) 33% (4) 28%
(5) 22%
57. "k 2004 rfk 2005 dk feyidj jiT; A 1 "lfey Nidi
dh dy I[;k rFk 2008 rFk 2009 di feyidj jiT; B
I "lfey Nk dh dy I[;kd chp vrj D;k g\
(1) 520 (2) 580
(3) 620 (4) 720
(5) 680
58. 0% 2004, 2006 rFkk 2008 e jit; B 1 ij{lk e

"lifey Nick dn I[;k % 2005, 2007 rFk 2009
ejim; Al kkfeyN hl[ I vuikr D;k g \
(1) 73:55 (2) 55:71

(3) 79:15 (4) 75:13

(5) 13:85
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ACADEMY

49.

50.

51.

52.

53.

54.

3 10 21 ? 51

(1) 34 2) 32
(3) 33 (4) 37
(5) None of these

5 11 ? 55 117

(1) 21 (2) 27
(3) 23 4) 25

(5) None of these

The average of 5 numbers is 306.4. The
average of the first two numbers is 431 and
the average of the last two numbers is 214.5.
What is the third number ?

(1) 108
(2) 52
(3) 321
(4) Cannot be determined
(5) None of these
Suresh invested a sum of ¥ 15000 at 9
percent per annum simple interest and
¥ 12000 at 8 percent per annum compound
interest for a period of 2 years. What amount
of interest did Suresh earn in 2 years ?
(1) ¥4096.60 (2) ¥4696.80
(3) ¥4896.60 (4) ¥4698.60
(5) None of these
Deepa bought a calculator with 30%
discount on the listed price. Had she not
got the discount, she would have paid
T 82.50 extra. At what price did she buy the
calculator ?
(1) ¥192.50
(2) T275
(3) ¥117.85
(4) Cannot be determined
(5) None of these
Amit, Sucheta and Neeti start running
around a circular track and complete one
round in 18, 24 and 32 seconds respectively.
In how many seconds will the three meet
again at the starting point if they all have
started running at the same time ?
(1) 196
(2) 288
(3) 324
(4) Can not be determined

)

(5) None of these

55.

What would be the cost of building a 7
metres wide garden around a circular field
with diameter equal to 280 metres if the
cost per sq. metre for building the garden
is¥217?

(1) ¥1,56,242

(3) ¥1,11,624

(5) None of these

(2) T2,48,521
(4) 2,06,118

Direction (56-60) : Study the following line
graph and answer the questions given below.

Given line graph shows the number of students
appeared from state A and state B in an

examination.
A Be=fll=—

300 780

/)\ R

600 480 / 6607\ 540

500 420 / v

400+ 440 49

300 o 320

200285 ; ; ; : ,
2004 2005 2006 2007 2008 2009

Years

56. Number of students appeared from state B
in the year 2009 is about what percent of
total students appeared from state A in all
the years together ?

(1) 32% (2) 30%
(3) 33% (4) 28%
(5) 22%

S57. What is the difference between the total
number of students from state A in the year
2004 and 2005 together and those of state
B in the year 2008 and 2009 together?

(1) 520 (2) 580
(3) 620 (4) 720
(5) 680
58. What is the ratio of number of students

appeared in examination from state B in
the year 2004, 2006 and 2008 to the number
of students appeared from state A in the year
2005, 2007 and 2009?

(1) 73:55 (2) 55:71
(3) 79: 15 (4) 75:13
(5) 13:85
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59.

60.

61.

62.

63.

'fn o"k 2010 e fiNy ok dh ryuk e jiT; A 1 “lifey
I[ e 10% rHk jiT; B e 15% dh of% gf
] rk o'k 2010 e jiT; A rfk jiT; B d Nk dh

I[;kvi dk vuikr D3k g \

(1) 287:439 (2) 285:437

(3) 289:437 (4) 433:189

(5) 242 :437

JWT; ATHIT; B 1 "lfey Nk dh vilr 13k d cip
vrj D3k g\

(1) 90 (2) 60

(3) 80 (4) 70

(5) 110

A,BrFkc@e'lh 5:6:8d vuikr e fuo’k dj ,d
0;kikj ik djr gh ,d o' cin C viu fuo’k dk 50%
fudly yr g rfk A viu fuo't dk 60% c<k nrk g
nk o'k d cin A, B rikC d clip @e’th vitr yitk dk
fdl vuikr e civk thuk pkfg, \

(1) 2:3:3

2) 4:3:2

3) 13:12:12
(4) fu/kjr ugh fd;k € 1drk
(5) bue I dib ugh

foly viu oru dk 5% nku nu dk fu.k; yrk g nlu
nu d fnu og viuk fu.k; cny yrk g rAk  1687.50
nku nrk g t gy fu.k; fy, x, dk 75% Fik foiy di
oruk fdruk g \

(1) ¥37,500

(2) ¥ 45,000

(3) 33,750

(4) fu/kfjr ugh fd;k t Idrk

(5) bue 1 dib ugh

tion 40 fdxk- xg % 12.50 ifr fdxi- rfik 25 fdxi-
xg % 15.10 fdxk- dh nj ij [kjfinrk gA og bl ,d iF
feyk nri gA fed.k dk ml fdl nj I cpuk pkfg, rifd

10% dk yiH vitr gk Id \
(1) ¥ 13.50 (2) 13.25
(3) ¥14.75 (4) T 14.85

(5) bue I dib ugh

64.

65.

B rik c ,d IiFk ,d die di sfnuke] Arfk B ,d
IiF mlh die di 12 fnuk e rFik A rFik C ,d IiF milh
die dk 16 fnuk e ijk djr gh mih dk; dk A, B rfi
C feydj fdru fnuk e ijk dj Idr g \

2 S
(1) 353 @) 773

(3) 75

(5) bue 1 dib ugh

,d jyxiMh 60 fdef-i%vk dh
ikj djrh gh jyxiMi dh yEckb
(1) 333 elVj
(2) 300 efVj
(3) 336 €lVj
(
(

()35

pty 1 ,d lyVile dk
D;kg\

4) fu/ifjr ugh fd;k ¢ Idrk
5) bue 1 dib ugh

fun'k (66-70) : futufyf[kr 1*uk e nk letdj.k I rFk II

fn; x, gh

gh

606.

67.

68.

69.

70.

vkidk lehdj.k dk gy djuk g rFk mikj nuk

(1)p>g (2) p<gqg
B pr=g 4 p>q
S pr=q

I. p»+5p+6=0

II. ¢*+3g+2=0

. p?P=4

II. ¢#+4q=-4

I. pP+p=56

II. ¢?-17g+72=0
I. 3p+2g-58=0
II. 4g+4p=92

I. 3p*+17p+10=0
II. 10¢#+9g+2=0
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59.

60.

61.

62.

63.

If in the year 2010 the number of students
appeared from state A is increase by 10%and
those from state B by 15% as compared to
the previous year,then what is the ratio of
number of students from state A and state
B in the year 2010?

(1) 287 : 439 (2) 285: 437
(3) 289:437 (4) 433:189
(5) 242 :437

What is the difference between average
number of students from state A and state
B?

(1) 90 (2) 60
(3) 80 (4) 70
(5) 110

A, B and C started a business with
investment in the ratio 5: 6: 8 respectively.
After one year C withdrew 50% of his
investment and A increased his
investment by 60%. After two years in what
ratio should the earned profit be distributed
among A, B and C respectively ?

(1) 2:3:3

(2) 4:3:2

(3) 13:12:12

(4) Cannot be determined
(5) None of these

Vipul decided to donate 5% of his salary. On
the day of donation he changed his mind
and donated ¥ 1687.50 which was 75% of what
he had decided earlier. How much is Vipul’s
salary ?

(1) 37,500

(2) ¥45,000

(3) ¥33,750

(4) Cannot be determined

(5) None of these

Javed bought 40 kgs of wheat at ¥ 12.50 per
kg and 25 kgs of it at ¥ 15.10 per kg. He
mixed them together. At what rate should
he sell the mixture to earn 10% proflt ?

(1) ¥13.50 (2) £13.25
(3) ¥14.75 (4) ¥ 14.85
(5) None of these

64.

65.

B and C together can complete a work in 8
days, A and B together can complete the
same work in 12 days and A and C together
can complete the same work in 16 days. In
how many days can A, B and C together
complete the same work ?

2 S
(1) 353 @) 773
3) 7> 2) 3>
B 75 (4) 315

(5) None of these

A train travelling at the speed of 60 kmph
crosses a platform in 20 seconds. What is
the length of the train ?

1) 333 metres

2) 300 metres

3) 336 metres

4) Cannot be determined
(5) None of these

—_— o~ o~ —

Directions (66-70) : In the following questions

two equations numbered I and II are given. You

have to solve both the equations and give

answer.
(I)p>q (2)p<q
B)pr=q 4 pr>q
B)pr=q

66. I. p*+5p+6=0

67.

68.

69.

70.

II. ¢*+3g+2=0

. p*P=4

II. ¢#+4q=-4

I. pP+p=56

II. ¢?-17g+72=0
I. 3p+2g-58=0
II. 4g+4p=92

I. 3p*+17p+10=0
II. 10¢#+9g+2=0
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ANUSHKA ACADEMY

( ENGLISH LANGUAGE & COMPREHENSION )

Directions (71-80) : Read the following passage
carefully and answer the questions given below
it. Certain words/phrases have been printed in
bold, to help you locate them while answering
some of the questions.
One could, in theory, conceive of a country
‘specialising’ entirely in agriculture and
obtaining all its industrial requirements from
abroad. But it could never become a high income
country simply because technologically developed
agriculture could never absorb more than a
fraction of the working population on the available
land. Though in all underdeveloped countries the
greater part of the working population is
‘occupied’ in agriculture, most of this represents
disguised unemployment; a rural community
maintains all its members and expects everyone
to share in the work. Much the greater part of
this labour could be withdrawn from agriculture
if alternative employment opportunities were
available without any adverse effects, and
probably with a beneficial effect on total
agricultural output. For the relief from the
pressure of labour on the land is itself a most
potent factor in inducing improvements in
technology which raises yields per acre, as well
as the yield per man. These improvements
normally require an increase in the capital
employed on the land; but the savings necessary
for the increase in capital are themselves a by-
product of reduced population pressure. The
reduction in the agricultural population and the
increased use of capital in agriculture are thus
different aspects of the same process. As there
are fewer mouths to feed, the “agricultural
surplus” rises (the excess of agricultural
production over the self-consumption of the
farming population); the rise in the ‘surplus’
enables the farmers to plough back a higher
proportion of their output - in the form of better
tools, improved seeds, fertilisers, etc. and such
improvements tend to be both “labour saving” and
“land saving”. They diminish the labour
requirements at the same time as they increase
the yield of the land.
71. According to the passage, in underdeveloped
countries
(1) agriculture is in a primitive stage
(2) per acre yield is very high
(3) land is available in plenty
(4) alternative employment opportunities
will have adverse effect on the lives of
people
(5) significant proportion of working
population works in agriculture

72.

73.

74.

75.

76.

What could be done, according to the

passage, to induce improvement in

agricultural technology ?

(1) Importing better agricultural technology

(2) Providing better weather forecasts

(3) Relieving pressure of labour on land

(4) Providing irrigation facilities

(5) None of these

According to the passage, it is theoretically

possible to think of country

(1) advanced both in agricultural and
industry

(2) specialised in industry but not in
agriculture

(3) backwards both in agriculture and
industry

(4) specialised in agriculture but not in
industry

(5) borrowing all its requirements from
abroad

What, according to the passage, will be the

achievement of inducing improvement in

technology ?

(1) Higher specialisation in agriculture

(2) Better employment opportunities

(3) Beneficial effects on quality of life of
people

(4) Relieving the pressure of employment
in industry

(5) None of these

Which of the following statements is TRUE

in the context of the passage ?

(1) Underdeveloped countries are rapidly
growing industrially

(2) Technologically developed agriculture
solves all the problems of unemployment

(3) Relief from the pressure of labour on
land raises yields per acre

(4) Yield per acre and yield per man are
unrelated

(5) Surplus in agriculture is spent for
domestic purposes

Why according to the passage, a country

specialised in agriculture only cannot

become a high income country ?

(1) It simply cannot borrow all its industrial
requirements from abroad

(2) It can absorb only a fraction of its
working population.

(3) Agriculture needs huge investments
and mrasrrjciural facilities

(4) Technological advancements in
agriculture has limitations

(5) None of these
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77.

78.

79.

80.

(5) None of these

Which of the following statements is NOT

TRUE in the context of the passage ?

(1) Theoretically there could be a country
specialized entirely in agriculture

(2) Capital is required to increase the per
acre yield of the land

(3) Agriculture surplus will rise if there are
fewer mouths to feed

(4) Technologically developed will absorb
most of the working population of the
available land

(5) A rural community maintains all its
members and expects everyone to share
in the work

Which of the following is most nearly the

SAME in meaning to the word ‘diminish’ as

used in the passage ?

(1) reduce (2) shorten
(3) prohibit (4) increase
(5) worsen

Which of the following is most OPPOSITE
in meaning to the word ‘adverse’ as used
in the passage ?

(1) negative (2) facilitating

(3) supplementary (4) derogative

(5) decorative

Which of the following is most nearly the
SAME in meaning to the word ‘inducing’ as
used in the passage ?

(1) causing (2) augmenting

(3) reducing (4) developing

(5) increasing

Directions (81-85) : Which of the phrases (1),
(2), (3), and (4) given bellow each sentence
should replace the phrase printed in bold in
the sentence to make it grammatically
correct? If the sentence is correct as it is given
and no correction is required, mark (5) as the
answer.

81.

82.

Ultimately he received the honour he
deserve.
(1) gained the honour he deserve
(2) received the honour he deserves
(3) received the honour he deserved
(4) bags the honour he deserve
(5) No correction required
[ am totally opposite in the statement of
some of our managers.
(1) totally oppose to the
) absolutely oppose by the
) totally opposed to the
(4) completely opposed in the
) No correction required

83.

84.

85.

Gayatri turned down the job offer to
accommodate her friend.

(1) job offered in accommodate
(2) job offers for accommodate
(3) job offer to accommodating
(4) job offer in accommodate
(5) No correction required

She was informed that everyone of them

are aware of the fact.
(1) were aware of (2) are aware at
(3) was aware of (4) is aware in
(5) No correction required

She has being venturing into areas which
she had always avoided in the past.

(1) has been venturing into
(2) has venturing into

(3) would venturing into

(4) had venturing into

(5) No correction required

Directions (86-90) : Pick out from the words
given below each sentence the word which
would complete the sentence correctly and
meaningfully.

86.

87.

88.

89.

An important of Indian business has
been its short-term focus.

(1) draw
(3) venture

(2) neglect

(4) figure

() failing

The Internet may not everything we

do, but it has already revolutionized
business and will continue to do so.

(1) mark (2) prove
(3) change (4) help
(5) stop

These two examples that Indian
companies are capable of acquiring a global
mind set.

(1) need (2) write
(3) generate (4) illustrate
(5) follow

There is an old idea in economics that if a
rich and a poor country are by trade,
their standard of living should converge in
the long run.

(1) mixed (2) linked

(3) away (4) similar

(5) meeting
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90.

All countries have consumer price indices,
some more reliable than others, some quite
out of date, but all concerned with
overall price changes.

(1) controlling (2) measuring

(3) publishing (4) reducing

(5) teaching

Directions (91-95) : Rearrange the following six
sentences (A), (B), (C), (D), (E) and (F) in the
proper sequence to form a meaningful
paragraph. Then answer the questions given
below them.

(A)

(B)

(€)

(D)

(E)

(F)

91.

92.

Ironically, the same parents who are
considered to be ignorant are thought to be
very enlightened in choosing private
schools over state-run ones.

This is all the more reason why we should
include them during the planning and
implementation of the system.

This is apparent at every stage from policy
making to implementation as critical
decisions are made without the parti-
cipation of the stakeholders, an attitude
that can only be described as either
arrogance or indifference.

In reality, every parent decides which
school in a good one, based on his/her own
set of values, perceptions and aspirations

The root cause of most of the ills that plague
our education system is the enormous
distance that separates the power centres
within the system and the schools where
the action takes place.

It is often said in defense of such an
approach that poor parents are too ignorant
to be partners in a meaningful dialogue.
Which of the following should be the SIXTH
(LAST) statement after rearrangement ?

(1) A (2) B
3) C (4) D
(5) E

Which of the following should be the THIRD
statement after rearrangement ?

(1) A 2) B
3) C (4) D
(5) F

93.

94.

95.

Which of the following should be the
SECOND statement alter rearrangement ?

(1) F (2) D
) C 4) E
(5) A

Which of the following should be the FIRST
statement aftes rearrangement ?

(1) A (2) B
3) C 4) D
(5) E

Which of the following should be the
FOURTH statement after rearrangement ?

(1) E (2) D
3) C 4) B
(5) A

Directions (96-100) : Read each sentence to
find out whether there is any grammatical error
in it. The error, if any will be in one part of the
sentence. The letter of that part is the answer.
If there is no error the answer is (5). (Ignore
errors of punctuation, if any.)

96.

97.

98.

99.

100.

Despite the merger, (1) / the airline has
reported (2)/ sizeable losses and is unable
(3)/ to pay their employees. (4)/ No error
()

We have recently began (1)/ the process of
recruiting (2)/ insurance agents for (3)/ our
North-Eastern branches. (4)/ No error (5)

The company's decisions to issue (1)/ bonus
shares clearly indicates (2)/ the
management's confident (3)/ about the
future. (4)/ No error (5)

In spite that organisations are aware (1)/
of the importance of IT (2)/ they do not know
(3)/ how to deploy it effectively. (4)/ No error
()

Keeping in mind that India (1)/ is one of
the world's fastest (2)/ growing economies
many international (3)/ companies are
invested in India. (4)/ No error (5)
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